UNITED STATES PATENT AND TRADEMARK OFFICE RAon3-9¢
COMMISSIONER FOR PATENTS
UNITED STATES PATENT AND TRADEMARK OFFICE
WASHINGTON, D.C. 2023i
www.uspto.gov

FEB 10 203
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Inrte. ‘ . PETITION FOR REGRADE
:  UNDER 37 CFR 10.7(c)

MEMORANDUM AND ORDER

] (petitioner) petitions for regrading his answers to
question 11 of the moming section and questions 9, 13 and 39 of the afternoon section of
the Registration Examination held on April 17, 2002. The petition is denied to the extent

petitioner seeks a passing grade on the Registration Examination.

BACKGROUND

An applicant for registration to practice before the United States Patent and
Trademark Office (USPTO) in patent cases must achieve a passing grade of 70 in both
the morning and afternoon sections of the Registration Examination. Petitioner scored
68. On August 7, 2002, petitioner requested regrading, arguing that the model answers

were incorrect.
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As indicated in the instructions for requesting regrading of the Examination, in

order to expedite a petitioner's appeal rights, a single final agency decision will be made

regarding each request for regrade. The decision will be reviewable under

35 U.S.C. § 32. The Director of the USPTO, pursuant to 35 U.S.C. § 2(b)(2)(D) and

37 CFR 10.2 and 10.7, has delegated the authority to decide requests for regrade to the

Director of Patent Legal Administration.

OPINION

Under 37 CFR 10.7(c), petitioner must establish any errors that occurred in the
grading of the Examination. The directions state: " No points will be awarded for
incorrect answers or unanswered questions.” The burden is on petitioners to show that
their chosen answers are the most correct answers.

The directions to the morning and afternoon sections state in part:

Do not assume any additional facts not presented in the questions. When
answering each question, unless otherwise stated, assume that you are a registered patent
practitioner. The most correct answer is the policy, practice, and procédure which must, -_
shall, or should be followed in accordance with the U.S. patent statutes, the USPTO rules
of practice and procedure, the Manual of Patent Examining Procedure (MPEP), and the
Patent Cooperation Treaty (PCT) articles and rules, unless modified by a court decision, a
notice in the Official Gazette, or a notice in the Federal Register. There is only one most
correct answer for each question. Where choices (A) through (D) are correct and choice
(E) is “All of the above,” the last choice (E) will be the most correct answer and the only

answer which will be accepted. Where two or more choices are correct, the most correct
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answer is the answer that refers to each and every one of the correct choices. Where a
question includes a statement with one or more blanks or ends with a colon, select the
answer from the choices given to complete the statement which would make the
statement true. Unless otherwise explicitly stated, all references to patents or applications
are to be understood as being U.S. patents or regular (non-provisional) utility applications
for utility inventions only, as opposed to plant or design applications for plant and design
inventions. Where the terms “USPTO” or “Office” are used in this examination, they
mean the United States Patent and Trademark Office.

Petitioner has presented various arguments attacking the validity of the model
answers. All of petitioner's arguments have been fully considered. Each question in the
Examination is worth one point.

Petitioner has been awarded one additional point for morning question.
Accordingly, petitioner has been granted one additional point on the Examination. No
credit has been awarded for afternoon questions 9, 13 or 39. Petitioner's arguments for

these questions are addressed individually below.
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Afternoon question 9 reads as follows:

9. An applicant’s claim stands rejected under 35 U.S.C. § 103 as being obvious over
Larry in view of Morris. Larry and Morris are references published more than one year
before applicant’s effective filing. Although the examiner cites no suggestion or
motivation for combining the references, they are, in fact, combinable. Which of the
following arguments could properly show that the claim is not obvious?

(A) The inventions disclosed by Larry and Morris cannot be physically combined.
(B) Neither Larry nor Morris provides an express suggestion to combine the references.

(C) As recognized by businessmen, the high cost of Larry’s device teaches away from
combining it with the simpler device of Morris.

(D) Absent a suggestion or motivation, the examiner has not shown that combining
Larry’s with Morris’s device would have been within the level of ordinary skill of the art.

(E) None of the above.

9. The model answer: (D) is correct. “The mere fact that references can be combined or
modified does not render the resultant combination obvious unless the prior art also
suggests the desirability of the combination.” MPEP § 2143.01 (citing In re Mills, 916
F.2d 680, 16 USPQ2d 1430 (Fed. Cir. 1990)). Here, the examiner fails to show that
substituting Larry’s device for another type of device in Morris would have been
desirable. (A) is incorrect. The test of obviousness is not whether the features or elements
of the references are physically combinable. In re Keller, 642 F.2d 413, 425, 208 USPQ
871, 881 (CCPA 1981); In re Sneed, 710 F.2d 1544,1550, 218 USPQ 385,389 (Fed. Cir.
1983). (B) is incorrect. “The rationale to modify or combine the prior art does not have to
be expressly stated in the prior art; the rationale may be expressly or impliedly contained
in the prior art or it may be reasoned from knowledge generally available to one of
ordinary skill in the art, established scientific principles, or legal precedent established by
prior case law.” MPEP § 2144 (citing In re Fine, 837 F.2d 1071, 5 USPQ2d 1596 (Fed.
Cir. 1988); In re Jones, 958 F.2d 347, 21 USPQ2d 1941 (Fed. Cir. 1992)). Here, the
argument overlooks the fact that a suggestion to combine Larry and Morris may be
reasoned from knowledge generally available to one of ordinary skill in the art,
established scientific principles, or legal precedent established by prior case law. (C) is
incorrect. “The fact that a combination would not be made by businessmen for economic
reasons does not mean that a person of ordinary skill in the art would not make the
combination because of some technological incompatibility.” MPEP § 2145 (citing In re
Farrenkopf, 713 F.2d 714, 718, 219 USPQ 1, 4 (Fed. Cir. 1983)). Here, the high cost of
Larry’s device does not teach away from a person of ordinary skill in the art combining it
with Morris’ device.

Petitioner argues that answer (E) is correct. Petitioner contends that the wording of
answer (D) suggests that the examiner has to explicitly state his or her reasons for
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combining the art even if it is combinable. Therefore due to the wording, answer (E)
correctly answers the question and can be reasonably considered to be one of the best
answers.

Petitioner’s arguments have been fully considered but are not persuasive.
Contrary to petitioner’s statement that (E) is the correct answer due to the wording of
answer (D), answer (D) is the correct answer. The question is asking which of the
arguments could properly show that the claim is not obvious, since the examiner cites no
suggestion or motivation in the rejection for combining the references, although the
references are, in fact, combinable. Therefore, an appropriate argument in this fact
situation would be to contend that just because two references could be combined does
not mean that one having ordinary skill in the art would combine them. There needs to
be some teaching, suggestion or motivation for doing so, found either in the references
themselves, or in the knowledge generally available to one having ordinary skill in the
art. Accordingly, model answer (D) is correct and petitioner’s answer (E) is incorrect.

No error in grading has been shown. Petitioner’s request for credit on this
question is denied.

Afternoon question 13 reads as follows:
13. Which of the following is or are a factor that will be considered in disapproving a
preliminary amendment in an application filed November 10, 2000?

(A) The nature of any changes to the claims or specification that would result from entry
of the preliminary amendment.

(B) The state of preparation of a first Office action as of the date of receipt of the
preliminary amendment by the Office.

(C) The state of preparation of a first Office action as of the certificate of mailing date
under 37 CFR 1.8, of the preliminary amendment.

ﬂ))‘All of the above.
(E) (A) and (B).

13. The model answer: (E) is the correct answer. 37 C.F.R. § 1.115(b)(1). As stated in 65
FR at 54636, middle and right columns, “Factors that will be considered in disapproving
a preliminary amendment include: the state of preparation of a first Office action as of the
date of receipt (§1.6, which does not include § 1.8 certificate of mailing dates) of the
preliminary amendment by the Office...” Thus, choices (C) and (D) are incorrect.

Petitioner argues that answer (A) is correct. Petitioner contends that all of the answers
seem in line with recent PTO policy in light of the recent September 11, 2001 emergency.
Since September 11, 2001 the Office understandably took into account the mailing date
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since the mail was unreasonably delayed or due to anthrax issues for mail going to the
PTO. Petitioner contends that this renders the question flawed and requests answer (A)
be accepted.

Petitioner’s arguments have been fully considered but are not persuasive.
Contrary to petitioner’s statement that the question is flawed, this is simply not true. The
most correct answer is the policy, practice, and procedure which must, shall, or should be
followed in accordance with the U.S. patent statutes, the USPTO rules of practice and
procedure, the Manual of Patent Examining Procedure (MPEP), and the Patent
Cooperation Treaty (PCT) articles and rules, unless modified by a court decision, a notice
in the Official Gazette, or a notice in the Federal Register. There is only one most correct
answer for each question. Where two or more choices are correct, the most correct
answer is the answer that refers to each and every one of the correct choices. Although
answer (A) is a correct answer, it is not the most correct answer, as both answers (A) and
(B) are correct, thereby making answer (E) the most correct answer." It is not only the
nature of any changes to the claims or specification that would result from entry of the
preliminary amendment that needs to be considered, but also the state of preparation of a
first Office action as of the date of receipt of the preliminary amendment by the Office.
Accordingly, model answer (E) is correct and petitioner’s answer (A) is incorrect.

No error in grading has been shown. Petitioner’s request for credit on this
question is denied.

Afternoon question 39 reads as follows:

39. A nonprovisional application under 37 CFR 1.53(b) is filed with a check for the exact
amount of a small entity basic filing fee. A registered practitioner’s well trained legal
assistant when filing the application forgot to also submit a written assertion of
entitlement to small entity status that had been executed by the sole assignee who is a
small entity. Which of the following is/are in accordance with proper USPTO practice
and procedure?

(A) Applicant need not supplement the initial filing with the omitted written assertion of
small entity status as the payment of the small entity filing fee will suffice to accord small
entity status.

(B) If the application is allowed, applicant cannot pay the issue fee in the small entity
amount unless the fee is accompanied by a written assertion of small entity status.

(C) If after filing of the application small entity status becomes no longer appropriate,
applicant may continue to pay small entity fees for newly added claims in a response to a
first Office action rejection.

(D) If the application is allowed, a registered practitioner could pay a small entity issue
fee solely based on the assignee’s written assertion of small entity status that was not
originally submitted if the practitioner now submits it with the issue fee.
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(E) (A) and (C).

39. The model answer: (E) is the correct answer as both answers (A) and (C) are in
accordance with Office practice. Answer (A) is a correct answer as the payment of the
small entity filing fee will be treated as a written assertion of entitlement to small entity
status pursuant to 37 C.F.R. § 1.27(c)(3). Answer (C) is a correct answer as once small
entity status is properly established on filing of the application small entity fees may
continue to be paid without regard to a change in status, such as for a claim fee, until the
issue fee is due pursuant to 37 C.F.R. § 1.27(g)(1). Answer (B) is not a correct answer.
Although a new determination of entitlement to small entity status is made upon payment
of the issue fee, a written assertion of entitlement to small entity status is not required at
this time. Once established, small entity status remains in effect unless the facts change.
Answer (D) is not a correct answer. At the time of payment of the issue fee the registered
practitioner cannot rely upon the previous written assertion of small entity status
completed at the time of filing the application. Applicant must conduct a new
investigation as to entitlement to small entity status at the time of payment of the issue
fee pursuant to 37 C.F.R. § 1.27(g)(1). If small entity status is determined to continue to
be appropriate at the time of payment of the issue fee, a small entity issue fee can be paid
based on such determination and a written assertion need not be presented at that time
pursuant to 37 C.F.R. § 1.27(e)(1).

Petitioner argues that answer (A) is correct. Petitioner contends that the model answer
(E) includes choice (C) in the answer, which seems to be debatable. Choice (C) states
that if the small entity status is no longer appropriate, applicant can still pay small entity
fees. Petitioner contends that he chose answer (A) because as a practitioner it is in
everyone’s best interest to honestly correct the status and pay the fees appropriate.

Petitioner’s arguments have been fully considered but are not persuasive.
Contrary to petitioner’s statement that if the small entity status is no longer appropriate, it
is in everyone’s best interest to honestly correct the status and pay the fees appropriate, it
should be noted that 37 C.F.R. § 1.27(g)(1) states that once status as a small entity has
been established in an application or patent, fees as a small entity may thereafter be paid
in that application or patent without regard to a change in status until the issue fee is due
or any maintenance fee is due. Therefore, applicant can continue to pay small entity fees
in the above fact situation until the issue fee is due, which makes both (A) and (C) correct
answers. Where two or more choices are correct, the most correct answer is the answer
that refers to each and every one of the correct choices. Accordingly, model answer (E)
is correct and petitioner’s answer (A) is incorrect. '

No error in grading has been shown. Petitioner’s request for credit on this
question is denied.
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ORDER

For the reasons given above, one point has been added to petitioner's score on the
Examination. Therefore, petitioner's score is 69. This score is insufficient to pass the
Examination.

Upon consideration of the request for regrade to the Director of the USPTO, it is
ORDERED that the request for a passing grade on the Examination is denied.

This is a final agency action.

\

Robert J. Spar
Director, Office of Patent Legal Administration
Office of the Deputy Commissioner

for Patent Examination Policy




